INSTRUCCIONES DE MONTAJE - MOUNTING INSTRUCTIONS - MONTAGEANLEITUNG

V ot 7 /7
Racing Screensg

MOTOPLASTIC, S.A.

Moli de lasal, 1 - 08403 Granollers (Barcelona) SPAIN
Tel. 34 93 849 06 33 - Fax 34 93 849 09 88
info@puig.tv - infousa@puig.tv

GUARDABARROS TRASERO ADAPTABLE A - REAR MUDGUARD ADAPTABLE TO - Ref.
HINTERRADABDECKUNG FUR

BMW R1200R 06'-14'/ R1200S

: 5861 J

(color negro/black colour)

Ref.: 5861 C

(color carbono/carbon look)

www.puig.tv - www.puigusa.com

Y
Z

1 Guardabarros Mudguard
N

2 Soporte Support 1

3 Silemblock Well nut 3

4 BC] Tornillo Allen M5x11 1ISO 7380 Autoblocante M5x11 1SO 7380 Allen lock screw 3

5 Tuerca M10 autoblocante M10 locknut 1

6 Tornillo Allen M10x75 DIN 912 12.9 M10x75 DIN 912 12.9 Allen screw 1 £
7 Tornillo Allen M8x40 DIN 912 12.9 M8x40 DIN 912 12.9 Allen screw 1 %
) © Casquillo de friccion IGUS @ int. 15 x @ ext. 1/7x15 Arrowhead friction IGUS @ inner 15 x @ outer 17x15 1 ‘é
9 (@) Casquillo con valona @ int. 10,5 x @ ext. 15x17,6 Bush with flange @ inner 10,5 x @ outer 15x 17,6 1 g
10 (@) Casquillo con valona M5 M5 bush with flange 3 :
11 O Arandela glower M8 M8 glower washer 1 =
12 %) Arandela glower DIN 127 M5 DIN 127 M5 glower washer 3 §




V ot 7 /7
Racing Screensg

MOTOPLASTIC, S.A.

Moli de lasal, 1 - 08403 Granollers (Barcelona) SPAIN
Tel. 34 93 849 06 33 - Fax 34 93 849 09 88
info@puig.tv - infousa@puig.tv
www.puig.tv - www.puigusa.com

GUARDABARROS TRASERO ADAPTABLE A - REAR MUDGUARD ADAPTABLE TO - HINTERRADABDECKUNG FUR

BMW R1200R - R1200S

Arandela original
Original washer

/ 4/ 1|

- Par de apriete tornillos 6 (56 Nm) y 7 (24Nm).
- Tightening torque for screws n® 6 (56 Nm) and 7 (24Nm).
- Anzugsdrehmoment Schrauben N° 6 (56 Nm) und 7 (24Nm).

Created by: www.ciandisseny.com





